
BC26ML BC26ML

2024/10/24 14:40:32(c) Qualica, Inc. 1



BC26ML 仕様

2024/10/24 14:40:32(c) Qualica, Inc. 2



BC26ML 部品表のご使用について

2024/10/24 14:40:32(c) Qualica, Inc. 3



BC26ML 目次

2024/10/24 14:40:32(c) Qualica, Inc. 4



BC26ML 101.本体

2024/10/24 14:40:32(c) Qualica, Inc. 5



BC26ML 101.本体

記号 番号 品番 代表品番 部品名称 個数 単位販売数 備考 メーカーコード

1 363093 BC26ML 1

× 2 225804 ｶﾞｲｶﾝﾏﾄﾒ 1

△ 3 226052 ﾃﾞﾝﾄﾞｳｼﾞｸ 1

4 211736 ﾎﾝﾀｲﾆｷﾞﾘB 1

5 211737 ﾊﾞﾝﾄﾞ 2 704096

6 054691 ﾂﾘｶﾅｸﾞｸﾐﾀﾃ 1 7ﾌｸﾑ

7 089738 6ｶｸﾎﾞﾙﾄ(+ｱﾌﾟｾﾂﾄ) 1 10 M5X15

8 221226 ｽﾛﾂﾄﾙﾚﾊﾞｰ 1

9 215612 ｽﾛﾂﾄﾙﾜｲﾔ 1

× 10 220572 ｷﾞﾔｹｰｽｸﾐﾀﾃ 1 11～15 ﾌｸﾑ

11 089819 089852 6ｶｸﾎﾞﾙﾄ 1 10 M6X8

12 092561 6ｶｸﾎﾞﾙﾄ(+)SW 1 10 M5X25 ｱﾌﾟｾﾂﾄ

13 212986 ﾊﾓﾉﾎﾞｽA 1 720333950

14 219195 ﾊﾓﾉﾎﾞｽB 1 720333960

15 215610 6ｶｸﾎﾞﾙﾄWSW(ﾋﾀﾞﾘ
)

1 M8X22 ﾋﾀﾞﾘ 720323230

16 089737 6ｶｸﾎﾞﾙﾄ(+ｱﾌﾟｾﾂﾄ) 1 10 M5X12

17 214224 ﾙｰﾌﾟﾊﾝﾄﾞﾙｸﾐﾀﾃ 1 18, 19, 29 ﾌｸﾑ

18 222142 ﾅﾍﾞｺﾈｼﾞ(+)W 4 10 M5X28(MK)

19 081027 6ｶｸﾅﾂﾄ M5X0.8 4 5 M5X0.8 83406-41750

20 220533 ｶﾀｶｹﾊﾞﾝﾄﾞｸﾐﾀﾃ 1 720853570

21 222821 ｼﾞﾖｳﾒﾝｶﾊﾞｰｸﾐﾀﾃ 1 22～24 ﾌｸﾑ

× 22 212994 ｶﾊﾞｰｼﾒﾂｹｶﾅｸﾞ 1 720473760

× 23 212995 ｶﾊﾞｰｵｻｴｶﾅｸﾞ 1 720473770

24 092577 092561 6ｶｸﾎﾞﾙﾄ(+)SW 2 10 M5X25

× 25 224693 ﾁﾂﾌﾟｿｰ 10  BIG-M 1

2024/10/24 14:40:32(c) Qualica, Inc. 6



BC26ML 101.本体

記号 番号 品番 代表品番 部品名称 個数 単位販売数 備考 メーカーコード

× 26 227896 ﾈｰﾑﾌﾟﾚｰﾄ 1 BC26M

27 220549 ﾁﾕｳｲﾏｰｸ 1 PL(ｺｳﾆﾕｳE/G)ｶﾘﾊ

28 225317 ﾊﾘﾏｰｸ 1 ﾏｼﾞﾂｸｽﾀｰﾄ

29 213171 ﾊﾝﾄﾞﾙﾄﾘﾂｹｺﾞﾑ 1

2024/10/24 14:40:32(c) Qualica, Inc. 7



BC26ML 201.エンジン（クランクケース，シリンダ）

2024/10/24 14:40:32(c) Qualica, Inc. 8



BC26ML 201.エンジン（クランクケース，シリンダ）

記号 番号 品番 代表品番 部品名称 個数 単位販売数 備考 メーカーコード

1 850870 DE260/05 1 BC26ML

2 269140 ｼﾘﾝﾀﾞ 1

3 269142 282330 ｶﾞｽｹﾂﾄ 1 5 T0.5

4 261250 6ｶｸｱﾅﾂｷﾎﾞﾙﾄ WSW 4 5 M5X20 -

5 269144 ｲﾝｼﾕﾚｰﾀ 1

6 267049 ｶﾞｽｹﾂﾄ 1 5

7 269826 ﾅﾍﾞｺﾈｼﾞ(+)WSW 2 5 M5X25WSWﾒﾂｸ

△ 8 280746 ﾏﾌﾗｱｾﾝﾌﾞﾘ 1

9 269824 ﾗﾍﾞﾙ 1 ｼﾞｼﾕｷｾｲ

10 280428 ｶﾞｽｹﾂﾄ 1

11 266264 ｽｸﾘﾕ 2 5 ﾌﾗﾝｼﾞ M5X50

× 12 269967 ﾄﾂﾌﾟｶﾊﾞｰ 1

13 269828 ｽｸﾘﾕ 1 5 M5X16W(11.6X1)

14 269153 ｸﾗﾝｸｹｰｽ 1

15 261491 ﾍﾞｱﾘﾝｸﾞ 2

16 285626 ｵｲﾙｼｰﾙ 1

17 278725 ｵｲﾙｼｰﾙ 1

18 055185 Cｶﾞﾀﾄﾒﾜ ｱﾅﾖｳ 28 1 5 ｱﾅﾖｳ28 82111-21260

19 264582 ｽｸﾘｰﾝ 1

20 261246 6ｶｸｱﾅﾂｷﾎﾞﾙﾄ WSW 3 5 M5X25 -

21 269160 ﾋﾟｽﾄﾝ 1

22 261496 ﾋﾟｽﾄﾝﾘﾝｸﾞ 2

23 261497 ﾋﾟｽﾄﾝﾋﾟﾝ 1 5.7X8X27.5

24 261037 ﾆｰﾄﾞﾙﾍﾞｱﾘﾝｸﾞ 1 KBK8X11X11.8X
1

25 261576 ｻｰｸﾘﾂﾌﾟ 2

26 269436 277939 ｸﾗﾝｸｼﾔﾌﾄｺﾝﾌﾟﾘｰﾄ 1

27 269168 248058 ｸﾗﾂﾁｱｾﾝﾌﾞﾘ 1 28, 29ﾌｸﾑ

× 28 269169 ｸﾗﾂﾁｼﾕ 2

2024/10/24 14:40:32(c) Qualica, Inc. 9



BC26ML 201.エンジン（クランクケース，シリンダ）

記号 番号 品番 代表品番 部品名称 個数 単位販売数 備考 メーカーコード

29 269173 ｽﾌﾟﾘﾝｸﾞ 1

30 269647 ｸﾗﾂﾁﾎﾞﾙﾄ 2

31 269175 ﾜﾂｼﾔ 2 5 6.1X15X1.6 -

32 261777 ｳｴｰﾌﾞﾜﾂｼﾔ 2 5

× 33 281245 ﾌｱﾝｶﾊﾞｰ 1

34 269272 ｸﾗﾂﾁﾄﾞﾗﾑｺﾝﾌﾟﾘｰﾄ 1

35 014210 Cｶﾞﾀﾄﾒﾜ ｼﾞｸﾖｳ 10 1 5 ｼﾞｸﾖｳ10 83407-31140

36 269118 ﾎﾙﾀﾞ 1

37 269119 ｸﾂｼﾖﾝ 1

38 281079 ｼﾞﾖｲﾝﾄA 1

39 281080 ｼﾞﾖｲﾝﾄB 1

40 012381 Cｶﾞﾀﾄﾒﾜ ｱﾅﾖｳ 40 1 ｱﾅﾖｳ40 04611-50400

× 41 269122 ｽﾄﾂﾊﾟｰ 1

42 269831 ｽｸﾘﾕ 4 5 M5X20WSW

× 43 280106 ﾅﾍﾞｺﾈｼﾞ(+)W 1 M5X10W

44 280107 ﾅﾍﾞｺﾈｼﾞ(+) 1 5 M5X10

45 280108 ﾅﾍﾞｺﾈｼﾞ(+)SW 2 5 M5X20SW

46 280077 ﾏｸﾞﾈﾄｱｾﾝﾌﾞﾘ 1 47～55 ﾌｸﾑ

47 261356 ﾛｰﾀ 1

48 280078 ｲｸﾞﾆﾂｼﾖﾝｺｲﾙｱｾﾝﾌﾞﾘ 1 49～55 ﾌｸﾑ

49 267174 267401 ｺｲﾙ 1

50 267584 ｺｰﾄﾞｸﾐﾀﾃ 1 51～53 ﾌｸﾑ

51 261074 ﾌﾟﾗｸﾞｷﾔﾂﾌﾟ 1

52 261075 ﾌﾂｸ 1

53 267585 ｺｰﾄﾞ 1

54 261072 ｷﾔﾂﾌﾟ 1

55 280080 ﾁﾕｰﾌﾞ 1

56 261076 ﾊﾝｹﾞﾂｷｰ 1 5 Aｼﾕ 3X10 -

57 261417 ｻﾗｻﾞｶﾞﾈﾂｷﾅﾂﾄ 1 5 M8

2024/10/24 14:40:32(c) Qualica, Inc. 10



BC26ML 201.エンジン（クランクケース，シリンダ）

記号 番号 品番 代表品番 部品名称 個数 単位販売数 備考 メーカーコード

58 268380 280381 ｽﾍﾟｰｻ 2 5

× 59 269832 ﾅﾍﾞｺﾈｼﾞ(+)WSW
M4X25 7T

2 M4X25WSW

60 264652 571421 ｽﾊﾟｰｸﾌﾟﾗｸﾞ CJ8Y 1 CJ8Y

× 61 269982 ｽﾄﾂﾌﾟｽｲﾂﾁ 1

62 269189 ｸﾞﾛﾒﾂﾄ 1 ｸﾛ

63 269705 ﾗﾍﾞﾙ 1 ｷｹﾝ ｶｷｹﾞﾝｷﾝ

× 64 286536 ﾌｱﾝｶﾊﾞｰｱｾﾝﾌﾞﾘC 1 33～35ﾌｸﾑ

2024/10/24 14:40:32(c) Qualica, Inc. 11



BC26ML 211.エンジン（リコイルスタータ）

2024/10/24 14:40:32(c) Qualica, Inc. 12



BC26ML 211.エンジン（リコイルスタータ）

記号 番号 品番 代表品番 部品名称 個数 単位販売数 備考 メーカーコード

1 282843 ﾘﾜｲﾝﾄﾞｽﾀｰﾀｱｾﾝﾌﾞﾘ 1

15 281211 ｽｸﾘﾕ 2 5 M4X20 WSW -

16 265726 6ｶｸｱﾅﾂｷﾎﾞﾙﾄWSW 1 5 M4X16ﾒﾂｸﾂｷ

17 269764 ｽﾀｰﾀﾌﾟｰﾘｱｾﾝﾌﾞﾘ 1

18 282705 ｱﾀﾞﾌﾟﾀｱｾﾝﾌﾞﾘ 1 19,20 ﾌｸﾑ

19 280008 ｼｶｸﾅﾂﾄ 3 5 ｼｶｸﾅﾂﾄM4

20 269423 ｼｶｸﾅﾂﾄ 1 5 ｼｶｸﾅﾂﾄM5

21 265726 6ｶｸｱﾅﾂｷﾎﾞﾙﾄWSW 3 5 M4X16ﾒﾂｸﾂｷ

22 269206 ﾌﾟﾚｰﾄ 1

24 280088 ﾗﾍﾞﾙ 1 BC26M

2024/10/24 14:40:32(c) Qualica, Inc. 13



BC26ML 221.エンジン（キャブレタ，エアクリーナ，フユーエルタンク
）

2024/10/24 14:40:32(c) Qualica, Inc. 14



BC26ML 221.エンジン（キャブレタ，エアクリーナ，フユーエルタンク
）

記号 番号 品番 代表品番 部品名称 個数 単位販売数 備考 メーカーコード

1 280101 ｷﾔﾌﾞﾚﾀｱｾﾝﾌﾞﾘ 1 2～18 ﾌｸﾑ

2 263739 ﾎﾟﾝﾌﾟﾎﾞﾃﾞｲ 1 3 ﾌｸﾑ

3 261872 ｽｸﾘｰﾝ 1

4 262991 ﾊﾟｰｼﾞﾎﾞﾃﾞｲ 1

5 262992 ﾎﾟﾝﾌﾟｶﾊﾞｰ 1

6 261874 ﾌﾟﾗｲﾏ 1

7 283905 ﾀﾞｲﾔﾌﾗﾑ 1

8 262993 ｶﾞｽｹﾂﾄ 1

9 262994 ﾀﾞｲﾔﾌﾗﾑ 1

10 282576 ｶﾞｽｹﾂﾄ 1

11 267358 ｼﾞｴﾂﾄ 1

12 261871 Oﾘﾝｸﾞ 1

13 261876 ﾘﾝｸﾞ 1

14 261658 ｽｲｰﾍﾞﾙ 1

15 261652 ﾌﾟﾗｸﾞ 1

17 264682 ｽｸﾘﾕ 2

18 262996 ｽｸﾘﾕ 4 5

19 261864 ｶﾞｽｹﾂﾄ 1 5

20 264691 Oﾘﾝｸﾞ 1 5

× 21 266420 ｸﾘｰﾅｱｾﾝﾌﾞﾘ 1 22～25 ﾌｸﾑ

22 264709 277554 ｸﾘｰﾅｶﾊﾞｰ 1

23 266433 ｹｰｽｱｾﾝﾌﾞﾘ 1 24 ﾌｸﾑ

24 263001 ｽﾘｰﾌﾞ 2

25 264695 ｴﾚﾒﾝﾄ 1

26 269834 ｽｸﾘﾕ 2 5

27 280020 ｽｲﾍﾞﾙﾘﾝｸﾞ 1 5 ﾍﾞﾂｿｳﾋﾝ

△ 28 269199 ﾀﾝｸｱｾﾝﾌﾞﾘ 1 29～31, 33～40 ﾌ
ｸﾑ

29 269200 ﾌﾕｰｴﾙﾀﾝｸ 1

30 269201 275306 ﾀﾝｸｷﾔﾂﾌﾟﾌﾞｸﾐﾀﾃ 1 31 ﾌｸﾑ

× 31 269377 ﾊﾟﾂｷﾝ 1

32 269763 ﾀｸﾞ 1 ｵｲﾙｺﾝｺﾞｳ  ﾀﾞｲ

33 261696 ﾌﾞﾘｰｻﾞｸﾐﾀﾃ 1

2024/10/24 14:40:32(c) Qualica, Inc. 15



BC26ML 221.エンジン（キャブレタ，エアクリーナ，フユーエルタンク
）

記号 番号 品番 代表品番 部品名称 個数 単位販売数 備考 メーカーコード

34 265952 ﾌﾕｰｴﾙﾊﾟｲﾌﾟｱｾﾝﾌﾞﾘ 1 35～40 ﾌｸﾑ

35 265867 ﾊﾟｲﾌﾟｱｾﾝﾌﾞﾘ 1 36～38 ﾌｸﾑ

36 265869 ｸﾞﾛﾒﾂﾄ 1

37 261690 ﾈﾝﾘﾖｳﾊﾟｲﾌﾟ 1 160L

38 263038 ｵｰﾊﾞﾌﾛｰﾊﾟｲﾌﾟ 1 3X6X85

39 264653 277887 ﾌｲﾙﾀｱｾﾝﾌﾞﾘ 1 125-552

40 261117 ｸﾘﾂﾌﾟ 1 -

41 261117 ｸﾘﾂﾌﾟ 1 -

42 269690 ｽｸﾘﾕ 3 5 M5X18 -

43 281007 ﾗﾍﾞﾙ 1 ﾁﾖｰｸ ｶｲ_ﾍｲ

2024/10/24 14:40:32(c) Qualica, Inc. 16



BC26ML 301.付属品

2024/10/24 14:40:32(c) Qualica, Inc. 17



BC26ML 301.付属品

記号 番号 品番 代表品番 部品名称 個数 単位販売数 備考 メーカーコード

1 221460 ﾎｺﾞﾒｶﾞﾈ 1 SG201

2 220534 ｶﾘﾊｶﾊﾞｰ 1 ﾋﾄｸﾐ 720913120

3 210418 ｺﾝﾋﾞﾎﾞﾂｸｽｽﾊﾟﾅ 1 13X19X(+)ﾄﾞﾗｲﾊﾞ

4 219431 6ｶｸﾎﾞｳｽﾊﾟﾅ 1 ﾆﾒﾝﾊﾊﾞ 3 ﾕﾆｸﾛ

5 022865 ﾘﾖｳｸﾞﾁｽﾊﾟﾅ 8X10 1 8X10 83407-32160

6 225281 ﾄﾘｱﾂｶｲｾﾂﾒｲｼﾖ
BC23Mﾎｶ/ﾎｼﾖｳｼ

1 BC23Mﾎｶ/ﾎｼﾖｳｼﾖ

2024/10/24 14:40:32(c) Qualica, Inc. 18


